Topic: Puzzle, Direction Sense and Coding-Decoding
Time: 15min

Paper-Maker Monika Awasthi

Directions (1-5): fR#=Ifaf@d ST 1 eaTeTqdes 3reaas MiSd 3 A e e
geat & 3T AT

o AT §AT a¥ & ard fAfdes A 32T - SeAadl, e, AT, [, 39T, et
3R GOk & ve qdiem & 3uyd gl o @ £, 39080 F UAF &l [Affed 97 gary
A gdg §.C39 AQl A gfam & fow 3ufeyd giar & 9 d 31 & &7 6 & 5w
A & C 3 D et 2 & 3999 HYT dhad gl Ifed 96T H 39TEUT g, I8
cafed 0 AfSeY o & 98 E & S dga 9ET  3uRYd 8T . S 99 e
dTel STTFd & Jgol hdol Udh cdidd G H 3URUd gIdT §. B 37 Ifad & & G
e F 39RYT gar § O S[F 9E & B AR ol qdg e arel cafed & ALy
Had dief Tferd 98T 7 39fEUd gid 8. EFN o df & o & 5[F 9HG £.A E &
81 Ugel TAAT ST .G A% JHE §. 9% IfFd [0 T i § 98 39 #Ade H
oiier & forw 3uffya giar & e 31 & &a 6T g1 8. 98 afaa o &g & 93T
& T 3ufeyd giar § 38 FAique vdg F¢7 §. Fal I adg 781 ¢

Q1. Afaf@a & & fFa i gdg g7
(@b
(b) G

() F
(d)B

(e) SIH & HIg oAer
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Q2.9 IfFa o T T¥ig ¢ 98 fore A= 7 odam & fow sufeea &ar &
(a) AT

(b) 3TeFgaR
(c) SfF
(d) 3MTET

(e) $5TH & FIs 6T
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Q3.9% <afFd St e’ A gfam & fov 3ufEd giar & 38 Feafaf@a # @ #ia-
a1 9 verd qde g7
(a) Si&

(b) wHsgareiy

(c) Ak

(d) or&

(€) 37 | g Tgl
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Q4. D ITaif@d & & T #Fela # e & Tov 3uRyd gar 87
(a) STy

(b) AT
(o) feaFsT
(d) JFgsY

(e) 3TH & s T

L1Difficulty 2
QTags day/month/year-based puzzle

Q5. G 3R AfSeY g aa) gt Ifed & ALY fohasy afead e & o 3ufeyg
Bld &2
() I}

(b) Uk

(c)ar



GG
(e) IS =TE
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Directions (6-10): A+=Ifaf@d Al &1 a=qdes egas Hio 3R A9 fGw e
gal & 3K I
P%Q(8)-P, Q Hh 6 HT 3T H &

P$Q (15)-P, Q & 13T cf&or & §
P#Q(36)-P, Q & 34 qd H §
P&Q (22)-P, Q & 20HT gfgH H §

P%Q(22), T&S(17), V#U(17), R#Q(24), T$U(18), R%S(10), VSW(14)
Q6.S & HeH H U T feem & g7

(@)@

(b) 3TR-qd

() STeyor-qidaH

(d) 3R-IRT=

(€)3TH & I gl
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Q7.g s & |t A, g w & wgetas g 3R faem = &2
(a) 25m, gfgyoT

(b) 28m, 3dY
(c) 20m, 3<X

(d) 27m, gFayoT



(e) $TH & s T
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Q8. afg M#Q(3),ar foig M@ foig T A =geTcde gqr a1 &2
(a) 13m

(b) 15m
(c) 10m
(d) 11m

(e) 3TH & g T
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Q9.1%'§Pauq’aa-‘rﬁ1%|§1za%r%%rrw%?
() GTRIOT-of

(b) 3R-gTTaA
(c) gfaur-gfeas
(d) I

(e) 3TH & s T
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Q10. g U & g Q =it gl ol &7
(a)2V13 &

(b)vV113 #r

(c)12 &Y

(d)v112 #r

(€) 37 | IS Tel



L1Difficulty 2
QTags Reasoning

Directions (11-12): s U 31T YAH UAT & U YA 3R 30 a1 L 13R 11H

Tegifhd e FafRar & 1 &1 FUT FH & T FFPRT F YR G Th HrAAreT
fordl gaream, N anfe & deer # GUR, 3fgacl a1 MY & wdarer & fav foar
ymafae U a1 Tk FeH T IR FUT H & 75 Tt IR P oI ATl

¢ . faotr ffsre & & a8 e sdarfeal & & @i @1 ahdeTd 3TEIOT HAr @
3R T 3R &1 A Ao

Q1L YU : HIMSA Gl HWAT GaRT T Slel arel P BIE Ger fasheli3it &
e & R @IT 7 ® & 508 exr &9 & 387 & diasje ATt & fav
Ueh THEIT 3907 T T 2|

FRAIRAr

1. B W 3cUEl A WeA § IAMgeht Hl Ushed o TI U S w1fg Tl

I O w3 fATanst @ "erfoa Qe A@en 7 3camar @ At @ Aw o e
1. GeT H@ell & H1Y aIuliegeh Hale & fav HAATdBt gart g fhe S= @i
(a) haer 13RI

(b) Faer 11 3R I

(c) FaeT 1 3R 111

(d) mefr 1, 11 3k 11

(e) 5181 & IS Agr
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Q12. %Y : U RUIE & 38R, AT XYZ A FROT 3R AT e, ge-ge ary
3R FaeeEr T FAT F FROT g AT IFT T 35-40% TG & AT
GO T I

I FHRT S 3R dJeled YOTel & ATETH ¥ 58 R & JHAE H HH o &
T oo Y S aTieu|

I 9§’ RATE &1 gl o9l o fAT carfaren 3ueo & @lie & 9ard 6 S
BT IR WA 3R g-H UIsy arsat i AFA 3 378 ol & v T I
FEHA o E foraT S ARl




1. 3o @l el & Qo qRIEAIcHs HIAaE! HhT Sl TIigy S ofFd T7T 4
ATST-ANET T I T F A 9w S

(a) Fao 1 3R 11

(b) Fhaa I

(c) paeT 1 3R 111

(d) @sir L, 11 3R

(e) 518 & HIg Tgr
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Directions (13-15): a1l IRl & eaeqas egae Hio 3R Ao e
AT gAT & 3T Ao
T fAfRad Fe s A,

‘Specialist Officers Syllabus’ @T ‘11R 2Y 21V’ for@r Srdr &
‘Carnival Premium Download’ & ‘26E 12L 9R’ for@r JTar §

‘Manager Power Amazing’ &I ‘12D 14R 26T for@r Sirar &

Q13. ‘Bumper Prize’ T % &T g7
(a) 12K 15S

(b) 10N 12G
(c) 6K 9A
(d) 8H 9A

() 3IH & FIg oAer
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Q14. ‘Awaited’ T T T §?
(a) 10G

(b) 8F

(c) 10T



(d) 4G

(e) 351 & IS aer
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Q15. ‘Counseling’ &I %< T g7
(a) 9K

(b) 12R

(c)17G

(d) 6T

(e) 3TH & g T
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Solutions (1-5):

Sol.
Month Friends | Beverages
January G Shake
February |F Juice
March B Coffee
June C Smoothies
August A Mojito
October E Lemonade
December | D Lassi

S1. Ans.(d)

S2. Ans.(c)

S3. Ans.(b)

S4. Ans.(c)

S5. Ans.(d)

Solutions (6-10):
Sol.

Solutions



20m)
16m
22m| +—m—-—— F
8m
\
T ETrp—
S6. Ans.(d)
S7. Ans.(b)
S8. Ans.(c)
S9. Ans.(a)
S10. Ans.(b)

Solutions (11-12):

S11. Ans.(b)

Sol. Iis an absurd course of action. Hence I. is not advisable. Il is advisable because the
move will compel the organized retailers to be involved in a dialogue to sort out the
problem. III is the right way to eliminate the problem. Hence, III is advisable.

S12. Ans.(d)

Solutions (13-15):
Sol.

reverse letter of the

SEPCIALIST == 11 R — [third last letter of the
I ord

place value of the
reverse letter of the
second letter of the word

S13. Ans.(c)
S14. Ans.(d)
S15. Ans.(b)



